

Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

#### State of West Virginia Centralized Request for Quote Miscellaneous

Proc Folder:

776701

Doc Description: TEMPORARY IT STAFFING FOR WVDHHR/OMIS

Reason for Modification:

ADDENDUM 1

TO ADD ESTIMATED

**QUANTITIES** 

Proc Type:

Central Master Agreement

Date Issued 2020-09-09

**Solicitation Closes** 2020-09-17

13:30

Solicitation No CRFQ 0511

MIS2100000002

Version

2

**BID RECEIVING LOCATION** 

**BID CLERK** 

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

2020 SEP 17 AM 9: 55

WV PURCHASING

VENDOR

Vendor Customer Code: V5000009860

Vendor Name: Smart Shared Services, LLC

Address: PO Box 1187

Street:

City: Charleston

State: WV

Country: USA

Zip: 25324

Principal Contact : Eva Kordus Ky

Vendor Contact Phone: 855-807-6278

Extension: 229

FOR INFORMATION CONTACT THE BUYER

Crystal G Hustead (304) 558-2402

crystal.g.hustead@wv.gov

Vendor

Signature X 🗸

FEIN# 47 - 1148168

DATE 9-15-2020

All offers subject to all terms and conditions contained in this solicitation

#### **ADDITIONAL INFORMATION**

REBID OF CRFQ MIS2100000001

THE WEST VIRGINIA PURCHASING DIVISION IS SOLICITING BIDS ON BEHALF OF WEST VIRGINIA DEPARTMENT OF HEALTH AND HUMAN RESOURCES (WV DHHR), OFFICE OF MANAGEMENT INFORMATION SERVICES (OMIS) TO ESTABLISH MULTIPLE OPEN-END CONTRACTS FOR TECHNICAL STAFFING SERVICES, PER THE ATTACHED DOCUMENTS.

THE POSITION CLASSIFICATIONS LISTED WITHIN THE SOLICITATION ARE TO PROVIDE FOR THE TECHNICAL EXPERTISE TO MEET THE CONTRACTED STAFFING NEEDS FOR ALL ENTITIES WITHIN THE WV DEPARTMENT OF HEALTH AND HUMAN RESOURCES, OFFICE OF MANAGEMENT INFORMATION SERVICES (OMIS) FOR SUPPORT OF OUR IT EFFORTS. THIS INCLUDES SUPPORT FOR ALL DHHR AGENCIES THAT MIGHT HAVE THE NEED FOR THESE SPECIFIC SERVICES. THESE SERVICES WOULD BE USED TO DEVELOP MODIFICATIONS AND ENHANCEMENTS TO THE COMPUTER SYSTEMS FOR THE END-USER STATE AGENCY, AS WELL AS MENTOR, PROVIDE TECHNICAL TRAINING AND SUPPORT AND PROVIDE "SHADOWING" OPPORTUNITIES FOR STATE ANALYSTS, AMONG OTHER TASKS AS DEFINED BY THE END-USER STATE AGENCY ON ITS DELIVERY ORDER FOR THE SERVICES.

\*\*\*QUESTIONS REGARDING THE SOLICITATION MUST BE SUBMITTED IN WRITING TO CRYSTAL.G.HUSTEAD@WV.GOV PRIOR TO THE QUESTION PERIOD DEADLINE CONTAINED IN THE INSTRUCTIONS TO VENDORS SUBMITTING BIDS\*\*\*

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line C	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
1 S	Senior Web Application Analyst	2288.00000	HOUR	67.00	153,296.00

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Senior Web Application Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200  CHARLESTON WV 25301  US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	Senior Web Application Analyst Optional renewal year 1	2288.00000	HOUR	67.67	154,808.96

Comm Code	Manufacturer	Specification	Model #	
80111608				
- 5				

Senior Web Application Analyst Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	Senior Web Application Analyst Optional renewal year 2	2288.00000	HOUR	68.35	156,384.80

Comm Code	Manufacturer	Specification	Model #	
80111608			40.4	

# **Extended Description:**

Senior Web Application Analyst Optional Renewal Year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	Senior Web Application Analyst Optional renewal year 3	2288.00000	HOUR	69.03	157,940.44

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior Web Application Analyst Optional Renewal Year 3

INVOICE TO	SHIP TO		
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US		

omm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
eb Application Analyst	2288.00000	HOUR	5400	13,552.00
		LA II	oh Annibertier Andri	oh Anglication A. J. J.

Comm Code	Manufacturer	Specification	Model #	
80111608	4			

### **Extended Description:**

Web Application Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
Web Application Analyst Optional renewal year	2288.00000	HOUR	54.54	124,787.52
		Comm Ln Desc Qty  Web Application Analyst Optional renewal year 2288.00000	Git issue	City Chit issue Chit Frice

Comm Code	Manufacturer	Specification	Model #	
80111608				·

Web Application Analyst Optional Renewal Year 1

INVOICE TO	SHIP TO		
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	Web Application Analyst Optional renewal year 2	2288.00000	HOUR	55.09	126,045.92

Comm Code	Manufacturer	Specification	Model #	
80111608				

# **Extended Description:**

Web Application Analyst Optional Renewal Year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
Web Application Analyst Optional renewal year	2288.00000	HOUR	55.64	127,304.32
		Web Application Analyst Optional renewal year 3 2288.00000	dif Offices up	Web Application Analysis of the Same Unit Price

Comm Code	Manufacturer	Specification	Model #	
80111608				

Web Application Analyst Optional Renewal Year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
9	Senior Mainframe Application Analyst	2288.00000	HOUR	59.98	137,234.24

Comm Code	Manufacturer	Specification	Model #	
80111608				

### **Extended Description:**

Senior Mainframe Application Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
10	Senior Mainframe Application Analyst Optional renewal yr 1	2288.00000	HOUR	60.58	138,607.04

Comm Code	Manufacturer	Specification	Model #	***
80111608				

Senior Mainframe Application Analyst Optional Renewal Year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
11	Senior Mainframe Application Analyst Optional renewal yr 2	2288.00000	HOUR	61.19	140,002.72

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Senior Mainframe Application Analyst Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
12	Senior Mainframe Application Analyst Optional renewal yr 3	2288.00000	HOUR	61.80	141,398.40

Comm Code	Manufacturer	Specification	Model #	
80111608			· · · · · · · · · · · · · · · · · · ·	

Senior Mainframe Application Analyst Optional renewal Year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
13	Mainframe Application Analyst	2288.00000	HOUR	53.06	121,264,00

Comm Code	Manufacturer	Specification	Model #	
80111608		<del></del>		

## **Extended Description:**

Mainframe Application Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US
	1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
14	Mainframe Application Analyst Optional renewal year 1	2288.00000	HOUR	53.53	122,476.64

Comm Code	Manufacturer	Specification	Model #	
80111608				
207				

Mainframe Application Analyst Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
15	Mainframe Application Analyst Optional renewal year 2	2288.00000	HOUR	54.07	123,712.16

Comm Code	Manufacturer	Specification	Model #	
80111608				
(1				

### **Extended Description:**

Mainframe Application Analyst Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
16	Mainframe Application Analyst Optional renewal year 3	2288.00000	HOUR	54.61	124,947.68

Comm Code	Manufacturer	Specification	Model #	
80111608				

Mainframe Application Analyst Optional renewal year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
17	Senior CRM Application Analyst	2288.00000	HOUR	74.03	169,380.64

Comm Code	Manufacturer	Specification	Model #	***************************************
80111608				

## **Extended Description:**

Senior CRM Application Analyst

INVOICE TO	SHIP TO		
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
18	Senior CRM Application Analyst Optional renewal year 1	2288.00000	HOUR	74.77	171,073.76

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior CRM Application Analyst Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
19	Senior CRM Application Analyst Optional renewal year 2	2288.00000	HOUR	75.52	172,789.76

Comm Code	Manufacturer	Specification	Model #	
80111608				

## **Extended Description:**

Senior CRM Application Analyst Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
20	Senior CRM Application Analyst Optional renewal year 3	2288.00000	HOUR	7628	174,528.69

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior CRM Application Analyst Optional renewal year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
21	CRM Application Analyst	2288.00000	HOUR	60.57	138,584.16

Comm Code	Manufacturer	Specification	Model #	
80111608				

### **Extended Description:**

**CRM Application Analyst** 

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE  ONE DAVIS SQUARE, RM 211  CHARLESTON WV 25301  US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
22	CRM Application Analyst Optional renewal year 1	2288.00000	HOUR	61.18	139,979.84

Comm Code	Manufacturer	Specification	Model #	
80111608				

CRM Application Analyst Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
23	CRM Application Analyst Optional renewal year 2	2288.00000	HOUR	61.79	141,375.52

Comm Code	Manufacturer	Specification	Model #	
80111608				

### **Extended Description:**

CRM Application Analyst Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE  321 CAPITOL ST, STE 200  CHARLESTON WV 25301  US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
24	CRM Application Analyst Optional renewal year 3	2288.00000	HOUR	62.41	142,794.08

Comm Code	Manufacturer	Specification	Model #	
80111608				***************************************

CRM Application Analyst Optional renewal year 3

INVOICE TO	SHIP TO			
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
25	Senior SharePoint Application Analyst	2288.00000	HOUR	69.93	159,999.84

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Senior SharePoint Application Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200  CHARLESTON WV 25301  US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
26	Senior SharePoint Application Analyst Opt Ren Year 1	2288.00000	HOUR	70.63	161,601.44

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior SharePoint Application Analyst Opt Ren Year 1

INVOICE TO	SHIP TO			
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
27	Senior SharePoint Application Analyst Opt Ren Year 2	2288.00000	HOUR 7	1.34	163,225.92

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Senior SharePoint Application Analyst Opt Ren Year 2

INVOICE TO	SHIP TO
MANAGEMENT INFORMATION SERVICE	HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200  CHARLESTON WV 25301  US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
28	Senior SharePoint Application Analyst Opt Ren Year 3	2288.00000	HOUR	72.05	164,850.40

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior SharePoint Application Analyst Opt Ren Year 3

INVOICE TO	SHIP TO		
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
29	SharePoint Application Analyst	2288.00000	HOUR	63.93	146,271.84

Comm Code	Manufacturer	Specification	Model #	
80111608				

# **Extended Description:**

SharePoint Application Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
30	SharePoint Application Analyst Optional Renewal Year 1	2288.00000	HOUR	64.57	147, 736.16

Comm Code	Manufacturer	Specification	Model #	
80111608				*****

SharePoint Application Analyst Optional Renewal Year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
31	SharePoint Application Analyst Optional Renewal Year 2	2288.00000	HOUR	65.22	149,223.36

Comm Code	Manufacturer	Specification	Model #	
80111608		****		

#### **Extended Description:**

SharePoint Application Analyst Optional Renewal Year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
32	SharePoint Application Analyst Optional Renewal Year 3	2288.00000	HOUR	65.37	150,710.56

Comm Code	Manufacturer	Specification	Model #	
80111608				

SharePoint Application Analyst Optional Renewal Year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WW 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
33	Senior Application Oracle Database Administrator	2288.00000	HOUR	62.34	142,633.92

Comm Code	Manufacturer	Specification	Model #	
80111608				

## **Extended Description:**

Senior Application Oracle Database Administrator

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
34	Senior Application Oracle Database Administrator Opt Ren Yr1	2288.00000	HOUR	62.96	144,052.48

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior Application Oracle Database Administrator Opt Ren Yr1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
35	Senior Application Oracle Database Administrator Opt Ren Yr2	2288.00000	HOUR	63.59	145, 493.92

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Senior Application Oracle Database Administrator Opt Ren Yr2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
36	Senior Application Oracle Database Administrator Opt Ren Yr3	2288.00000	HOUR	64.23 1	46, 958.24

Comm Code	Manufacturer	Specification	Model #	-
80111608				

Senior Application Oracle Database Administrator Opt Ren Yr3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
37	Application Oracle Database Administrator	2288.00000	HOUR	59.98	137,234.24

Comm Code	Manufacturer	Specification	Model #	
80111608				
e				

### **Extended Description:**

Application Oracle Database Administrator

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
38	Application Oracle Database Administrator Opt Ren Yr1	2288.00000	HOUR	60.58	138,607.04

Comm Code	Manufacturer	Specification	Model #	
80111608				

Application Oracle Database Administrator Opt Ren Yr1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
39	Application Oracle Database Administrator Opt Ren Yr2	2288.00000	HOUR	61.19	140,002.72

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Application Oracle Database Administrator Opt Ren Yr2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
40	Application Oracle Database Administrator Opt Ren Yr3	2288.00000	HOUR	61.80	141, 398.40

Comm Code	Manufacturer	Specification	Model #	
80111608	1			

Application Oracle Database Administrator Opt Ren Yr3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
41	Senior Application DB2 Database Administrator	2288.00000	HOUR	64.98	148,674.24
					•

Comm Code	Manufacturer	Specification	Model #	140
80111608				

#### **Extended Description:**

Senior Application DB2 Database Administrator

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
42	Senior Application DB2 Database Administrator Opt Ren Yr 1	2288.00000	HOUR	65.63	150,161.44

Comm Code	Manufacturer	Specification	Model#	
80111608				

Senior Application DB2 Database Administrator Opt Ren Yr 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
43	Senior Application DB2 Database Administrator Opt Ren Yr 2	2288.00000	HOUR	66.29	151,671.52

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Senior Application DB2 Database Administrator Opt Ren Yr

HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US	INVOICE TO	SHIP TO
	MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301	MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
44	Senior Application DB2 Database Administrator Opt Ren Yr 3	2288.00000	HOUR	66.95	153, 181.60

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior Application DB2 Database Administrator Opt Ren Yr 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
45	Application DB2 Database Administrator	2288.00000	HOUR	62.98	144,098.24

Comm Code	Manufacturer	Specification	Model #	
80111608				-

# **Extended Description:**

Application DB2 Database Administrator

INVOICE TO	SHIP TO
MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301	HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE  321 CAPITOL ST, STE 200  CHARLESTON WV 25301  US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
46	Application DB2 Database Administrator Opt Ren Yr1	2288.00000	HOUR	63.61	145,539.68

Comm Code	Manufacturer	Specification	Model #	
80111608				

Application DB2 Database Administrator Opt Ren Yr1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301
US	US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
47	Application DB2 Database Administrator Opt Ren Yr2	2288.00000	HOUR	64.25	147,004.00

Comm Code	Manufacturer	Specification	Model #	
80111608				<del></del>

## **Extended Description:**

Application DB2 Database Administrator Opt Ren Yr2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
48	Application DB2 Database Administrator Opt Ren Yr3	2288.00000	HOUR	64.89	148, 468.32

Comm Code	Manufacturer	Specification	Model #	*
80111608				

Application DB2 Database Administrator Opt Ren Yr3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

omm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
enior SQL Server Database Administrator	2288.00000	HOUR	57.98	132,658.24
-			i ool o Pili iii iii iii iii ii ii ii ii ii ii ii	Commission of the first tree

Comm Code	Manufacturer	Specification	Model #	*
80111608				

#### **Extended Description:**

Senior SQL Server Database Administrator

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US
90 H	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
50	Senior SQL Server Database Administrator Optional Ren Yr1	2288.00000	HOUR	58.56	133,985.28

Comm Code	Manufacturer	Specification	Model #	
80111608				
8				

Senior SQL Server Database Administrator Optional Ren Yr1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
51	Senior SQL Server Database Administrator Optional Ren Yr2	2288.00000	HOUR	59.15	135,355.20

Comm Code	Manufacturer	Specification	Model #	9-110-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-
80111608		<del>*************************************</del>		

#### **Extended Description:**

Senior SQL Server Database Administrator Optional Ren Yr2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Pric	e Total Price
52	Senior SQL Server Database Administrator Optional Ren Yr3	2288.00000	HOUR	59.74	136,685.12

Comm Code	Manufacturer	Specification	Model #	****
80111608	13			

Senior SQL Server Database Administrator Optional Ren Yr3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
53	SQL Server Database Administrator	2288.00000	HOUR	54.98	125,794.24

Comm Code	Manufacturer	Specification	Model #	
80111608				

### **Extended Description:**

SQL Server Database Administrator

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200
CHARLESTON WV 25301 US	CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
54	SQL Server Database Administrator Opt Ren Yr1	2288.00000	HOUR	55.53	27,052.64

Comm Code	Manufacturer	Specification	Model #	
80111608				······································

SQL Server Database Administrator Opt Ren Yr1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
55	SQL Server Database Administrator Opt Ren Yr2	2288.00000	HOUR	56.09	128,333.92

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

SQL Server Database Administrator Opt Ren Yr2

INVOICE TO	SHIP TO
MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
56	SQL Server Database Administrator Opt Ren Yr3	2288.00000	HOUR	56.65	129,615.20

Comm Code	Manufacturer	Specification	Model #	
80111608				
1				

SQL Server Database Administrator Opt Ren Yr3

INVOICE TO	SHIP TO		
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US		

nm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
ior COGNOS Analyst	2288.00000	HOUR	76.20	174,345.60
			ty Omrissue	dy omerode omernee

Comm Code	Manufacturer	Specification	Model #	7
80111608				

## **Extended Description:**

Senior COGNOS Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
58	Senior COGNOS Analyst Optional Renewal Yr 1	2288.00000	HOUR	76.96	176,084.48

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior COGNOS Analyst Optional Renewal Yr 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US
	x xx

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
59	Senior COGNOS Analyst Options	al Renewal Yr 2 2288.00000	HOUR	77.73	177,34624

Comm Code	Manufacturer	Specification	Model #	
80111608				
		AND THE PROPERTY OF THE PROPER		

Extended Description: Senior COGNOS Analyst Optional Renewal Yr 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
60	Senior COGNOS Analyst Optional Renew	/al Yr 3 2288.00000	HOUR	78.51	179,630.88
				1.110	/

Comm Code	Manufacturer	Specification	Model #	
80111608				

Senior COGNOS Analyst Optional Renewal Yr 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
61	COGNOS Analyst	2288.00000	HOUR	59.84	136,913.92

Comm Code	Manufacturer	Specification	Model #	
80111608				

# **Extended Description:**

**COGNOS** Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
62	COGNOS Analyst Optional Renewal Year 1	2288.00000	HOUR	60.44	138,286.72

Comm Code	Manufacturer	Specification	Model #	
80111608			<del></del>	

COGNOS Analyst Optional Renewal Year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	us
	d i

Line	Comm Ln Desc	Qty	Unit Issue	Unit Pri	ce Total Price
63	COGNOS Analyst Optional Renewal Year 2	2288.00000	HOUR	61.04	139,659.52

Comm Code	Manufacturer	Specification	Model #	
80111608		- 1		
		Control of the Contro		

## **Extended Description:**

COGNOS Analyst Optional Renewal Year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
64	COGNOS Analyst Optional Renewal Year 3	2288.00000	HOUR	61.65	141,055.20

Comm Code	Manufacturer	Specification	Model #	
80111608				

COGNOS Analyst Optional Renewal Year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Pric	e Total Price
65	Software Test Analyst	2288.00000	HOUR	48.98	112,066.24

Comm Code	Manufacturer	Specification	Model #	
80111608		## ## ## ## ## ## ## ## ## ## ## ## ##		

## **Extended Description:**

Software Test Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
66	Software Test Analyst Optional Year 1	2288.00000	HOUR	49.47	113,187.36

Comm Code	Manufacturer	Specification	Model #	
80111608				

Software Test Analyst Optional Year 1

INVOICE TO		SHIP TO	
HEALTH AND HUMAN R	ESOURCES	HEALTH AND HUMAN RESOURCES	
MANAGEMENT INFORM	ATION SERVICE	MANAGEMENT INFORMATION SERVICE	
ONE DAVIS SQUARE, R	M 211	321 CAPITOL ST, STE 200	
CHARLESTON	WV 25301	CHARLESTON WV 25301	
US		US	
		a villa di la constanti di la	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
67	Software Test Analyst Optional Year 2	2288.00000	HOUR	49.96	1141308.48

Comm Code	Manufacturer	Specification	Model #	
80111608				

## **Extended Description:**

Software Test Analyst Optional Year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
68	Software Test Analyst Optional Year 3	2288.00000	HOUR	50.46	115,452.48

Comm Code	Manufacturer	Specification	Model #	
80111608				
	- 79			

Software Test Analyst Optional Year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
69	Help Desk Analyst	2288.00000	HOUR	24.99	57,177.12

Comm Code	Manufacturer	Specification	Model #	
80111608		:		

## **Extended Description:**

Help Desk Analyst

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US
1 1	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
70	Help Desk Analyst Optional renewal year 1	2288.00000	HOUR	25.24	57,749.12

Comm Code	Manufacturer	Specification	Model #	
80111608				

Help Desk Analyst Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
71	Help Desk Analyst Optional renewal year 2	2288.00000	HOUR	25.49	58,321.12

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Help Desk Analyst Optional renewal year 2

Date Printed: Sep 15, 2020

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
Help Desk Analyst Optional renewal year 3	2288.00000	HOUR	25.75	53,916.00

Comm Code	Manufacturer	Specification	Model #	9
80111608		r.		

Help Desk Analyst Optional renewal year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US
9 5 40 9	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
73	Business Analyst	2288.00000	HOUR	47.61	109,114.72

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

**Business Analyst** 

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
74	Business Analyst Optional Renewal Year 1	2288.00000	HOUR	48.17	110,112.96

Comm Code	Manufacturer	Specification	Model #	
80111608				

Business Analyst Optional Renewal Year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
75	Business Analyst Optional Renewal Year 2	2288.00000	HOUR	48.65	111,311.20

Comm Code	Manufacturer	Specification	Model #	
80111608				A-4-5-14-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-

# **Extended Description:**

Business Analyst Optional Renewal Year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE  ONE DAVIS SQUARE, RM 211  CHARLESTON WV 25301  US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US
ž.	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
76	Business Analyst Optional Renewal Year 3	2288.00000	HOUR	49.14	112,432.32

Comm Code	Manufacturer	Specification	Model #	
80111608				

Business Analyst Optional Renewal Year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
77	Technical Writer	2288.00000	HOUR	41.72	95,455.36

Comm Code	Manufacturer	Specification	Model #	
80111608	/			

#### **Extended Description:**

Technical Writer

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200  CHARLESTON WV 25301  US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
78	Technical Writer Optional Renewal Year 1	2288.00000	HOUR	42.14	96,416.32

Comm Code	Manufacturer	Specification	Model #	
80111608				

Technical Writer Optional Renewal Year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

nm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
nnical Writer Optional Renewal Year 2	2288.00000	HOUR	42.56	97,377, 28
	nnical Writer Optional Renewal Year 2	2.3	aty Onit issue	anical Writer Optional Panaval Very 2 2000 00000 LIQUE

Comm Code	Manufacturer	Specification	Model #	***************************************
80111608				

#### **Extended Description:**

Technical Writer Optional Renewal Year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
Technical Writer Optional Renewal Year 3	2288.00000	HOUR	42.98	98,33824

Comm Code	Manufacturer	Specification	Model #	
80111608				

Technical Writer Optional Renewal Year 3

INVOICE TO	SHIP TO	
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
81	Information Systems Assistant	2288.00000	HOUR	32.99	75,481.12

Comm Code	Manufacturer	Specification	Model #	(1)
80111608				

#### **Extended Description:**

Information Systems Assistant

INVOICE TO	SHIP TO
MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
82	Information Systems Assistant Optional renewal year 1	2288.00000	HOUR	33.32	76,236.16

Comm Code	Manufacturer	Specification	Model #	
80111608				

Information Systems Assistant Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
83	Information Systems Assistant Optional renewal year 2	2288.00000	HOUR	33.65	76,991.20

del#
_

#### **Extended Description:**

Information Systems Assistant Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US
6	x d

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
84	Information Systems Assistant Optional renewal year 3	2288.00000	HOUR	33.99	77,769.12

Comm Code	Manufacturer	Specification	Model #	
80111608		*		

Information Systems Assistant Optional renewal year 3

SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE
321 CAPITOL ST, STE 200
CHARLESTON WV 25301

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
85	Imaging Operator	2288.00000	HOUR	62.99	144,121.12

Comm Code	Manufacturer	Specification	Model #	
80111608				

# **Extended Description:** Imaging Operator

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
86	Imaging Operator Optional renewal year 1	2288.00000	HOUR	63.62	145,562.56

Comm Code	Manufacturer	Specification	Model #	
80111608				9-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1

Imaging Operator Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
87	Imaging Operator Optional renewal year 2	2288.00000	HOUR	64.26	147,026.88

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Imaging Operator Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
88	Imaging Operator Optional renewal year 3	2288.00000	HOUR	64.90	148,491.20

Comm Code	Manufacturer	Specification	Model #	
80111608				

Imaging Operator Optional renewal year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
89	Programmer Analyst	2288.00000	HOUR	54.97 12	5,771.36

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Programmer Analyst

INVOICE TO	SHIP TO
ONE DAVIS SQUARE, RM 211	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
90	Programmer Analyst Optional renewal year 1	2288.00000	HOUR	55.52	127,029.76

Comm Code	Manufacturer	Specification	Model #	
80111608				

Programmer Analyst Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
91	Programmer Analyst Optional renewal year 2	2288.00000	HOUR	56.08	128,311,64

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Programmer Analyst Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
Programmer Analyst Optional renewal year 3	2288.00000	HOUR	56.64	129,592.3
				and the control of th

Comm Code	Manufacturer	Specification	Model #	
80111608				***************************************

Programmer Analyst Optional renewal year 3

INVOICE TO	SHIP TO			
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
93	Systems Programmer	2288.00000	HOUR	37.00	84,656.00

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Systems Programmer

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES  MANAGEMENT INFORMATION SERVICE  ONE DAVIS SQUARE, RM 211  CHARLESTON WV 25301  US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US
*	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
94	Systems Programmer Optional renewal year 1	2288.00000	HOUR	37.37	85,502,56

Comm Code	Manufacturer	Specification	Model #	
80111608				

Systems Programmer Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211 CHARLESTON WV 25301 US	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200 CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
95	Systems Programmer Optional renewal year 2	2288.00000	HOUR	37.74	86,349.12

Comm Code	Manufacturer	Specification	Model #	manage programme
80111608				

#### **Extended Description:**

Systems Programmer Optional renewal year 2

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
96	Systems Programmer Optional renewal year 3	2288.00000	HOUR	38.12	87,218.56

Comm Code	Manufacturer	Specific	ation N	flodel #
80111608		E8		and the second district of the second se

Systems Programmer Optional renewal year 3

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
US	US
	9

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
97	Computer Operator	2288.00000	HOUR	37.00	84,656.00

Comm Code	Manufacturer	Specification	Model #	
80111608				

#### **Extended Description:**

Computer Operator

Date Printed: Sep 15, 2020

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200
CHARLESTON WV 25301	CHARLESTON WV 25301
us	US
* 1	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
98	Computer Operator Optional renewal year 1	2288.00000	HOUR	37.37	85,502.56

Comm Code	Manufacturer	Specification	Model #	
80111608		170 (170 (170 (170 (170 (170 (170 (170 (		

Computer Operator Optional renewal year 1

INVOICE TO	SHIP TO
HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE ONE DAVIS SQUARE, RM 211	HEALTH AND HUMAN RESOURCES MANAGEMENT INFORMATION SERVICE 321 CAPITOL ST, STE 200
CHARLESTON WV 25301 US	CHARLESTON WV 25301 US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
99	Computer Operator Optional renewal year 2	2288.00000	HOUR	37.74	86,349.12

Comm Code	Manufacturer	Specification	Model #	
80111608		*		

#### **Extended Description:**

Computer Operator Optional renewal year 2

INVOICE TO	SHIP TO		
HEALTH AND HUMAN RESOURCES	HEALTH AND HUMAN RESOURCES		
MANAGEMENT INFORMATION SERVICE	MANAGEMENT INFORMATION SERVICE		
ONE DAVIS SQUARE, RM 211	321 CAPITOL ST, STE 200		
CHARLESTON WV 25301	CHARLESTON WV 25301		
US	US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
100	Computer Operator Optional renewal year 3	2288.00000	HOUR	38 P	87,218.56

Comm Code	Manufacturer	Specification	Model #	
80111608				

Computer Operator Optional renewal year 3

# SCHEDULE OF EVENTS

Line	Event	Event Date
1	VENDOR QUESTION DEADLINE	2020-09-10

Date Printed: Sep 15, 2020 Page: 52

# ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: MIS2100000002

**Instructions:** Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

**Acknowledgment:** I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Adden	du	m ľ	Numbers Received:			
			ox next to each addendum rec	eive	d)	
	[ \	/]	Addendum No. 1	]	]	Addendum No. 6
	[ •	1	Addendum No. 2	[	J	Addendum No. 7
	[	]	Addendum No. 3	[	]	Addendum No. 8
	[	]	Addendum No. 4	[	]	Addendum No. 9
	[	]	Addendum No. 5	[	1	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Smart Shared Services, LLC

Company

Evakordusky

Authorized Signature

9-15-2020

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing. Revised 6/8/2012

	Document Phase	Document Description	Page 53
MIS2100000002	Draft	TEMPORARY IT STAFFING FOR WVDHHR/OMIS	

#### ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

# REQUEST FOR QUOTATION CRFQ MIS2100000002 Temporary IT Staffing for WV DHHR and OMIS

- 10.1.4. Failure to remedy deficient performance upon request.
- 10.2. The following remedies shall be available to Agency upon default.
  - 10.2.1. Immediate cancellation of the Contract.
  - **10.2.2.** Immediate cancellation of one or more release orders issued under this Contract.
  - **10.2.3.** Any other remedies available in law or equity.

#### 11. MISCELLANEOUS:

11.1. Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager: Eva Kordysky
Telephone Number: 855-807-6278
Fax Number: 888-680-6555
Email Address: eva. Kordysky essile. email

Contract Administrator and the initial point of contact for matters relating to this Contract.
Eva Kordysky, VP of Bysiness Operations
(Name, Title) Eva bordusky VP of Business Operations
(Printed Name and Title) PO Box 1187, Charleston, WV 25324
(Address) 855-807-6278   888-680-6555
(Phone Number) / (Fax Number)  Eva, Kordysky@ 555   c.emai)
eva, hordysky@SSS (c.emai)
(email address)

**DESIGNATED CONTACT:** Vendor appoints the individual identified in this Section as the

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

Smart Shared Services, LLC
(Company)
Evaluables, Eva Kordysky VP of Business Operations (Authorized Signature) (Representative Name, Title)
Eva Kordusky JVP of Business Operations (Printed Name and Title of Authorized Representative)
9-15-2020
(Date)
855-807-6278, 388-680-6555
(Phone Number) (Fax Number)

# MIS2100000002 WV DHHR/OMIS Temporary IT Staffing

# **Smart Shared Services, LLC References**

Classification	Entity	Entity contact	Entity contact information
Senior Mainframe Application Analyst	WV DOT/DOH	Lynette Shaw	lynette.s.shaw@wv.gov
Senior SQL Server Database Administrator	WV Office of Technology	Tom Allen	tom.o.allen@wv.gov
Senior Cognos Analyst	MRC Global	Marvin Taylor	Marvin.Taylor@mrcglobal.com
Help Desk Analyst	WV DHHR	Terry Harvey	terry.w.harvey@wv.gov
Information Systems Assistant	MRC Global	Marvin Taylor	Marvin.Taylor@mrcglobal.com
Systems Programmer	MRC Global	Marvin Taylor	Marvin.Taylor@mrcglobal.com

# STATE OF WEST VIRGINIA Purchasing Division

# **PURCHASING AFFIDAVIT**

**CONSTRUCTION CONTRACTS:** Under W. Va. Code § 5-22-1(i), the contracting public entity shall not award a construction contract to any bidder that is known to be in default on any monetary obligation owed to the state or a political subdivision of the state, including, but not limited to, obligations related to payroll taxes, property taxes, sales and use taxes, fire service fees, or other fines or fees.

**ALL CONTRACTS:** Under W. Va. Code §5A-3-10a, no contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and: (1) the debt owed is an amount greater than one thousand dollars in the aggregate; or (2) the debtor is in employer default.

**EXCEPTION:** The prohibition listed above does not apply where a vendor has contested any tax administered pursuant to chapter eleven of the W. Va. Code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Employer default" means having an outstanding balance or liability to the old fund or to the uninsured employers' fund or being in policy default, as defined in W. Va. Code § 23-2c-2, failure to maintain mandatory workers' compensation coverage, or failure to fully meet its obligations as a workers' compensation self-insured employer. An employer is not in employer default if it has entered into a repayment agreement with the Insurance Commissioner and remains in compliance with the obligations under the repayment agreement.

"Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

AFFIRMATION: By signing this form, the vendor's authorized signer affirms and acknowledges under penalty of law for false swearing (*W. Va. Code* §61-5-3) that: (1) for construction contracts, the vendor is not in default on any monetary obligation owed to the state or a political subdivision of the state, and (2) for all other contracts, that neither vendor nor any related party owe a debt as defined above and that neither vendor nor any related party are in employer default as defined above, unless the debt or employer default is permitted under the exception above.

# WITNESS THE FOLLOWING SIGNATURE: Vendor's Name: Smart Shared Services, LLC

Authorized Signature: Eva Kondusky Date: 9-15-2020

State of County of Analyst , to-wit:

Taken, subscribed, and sworn to before me this day of Signature , 20 20

My Commission expires June 10 , 202

NOTARY PUBLIC

AFFIX SEAL HERE OFFICIAL SEAL STATE OF WEST VIRGINIA

Purchasing Affidavit (Revised 01/19/2018)

# West Virginia Ethics Commission Disclosure of Interested Parties to Contracts

(Required by W. Va. Code § 6D-1-2)

Name of Contracting Business Entity: Smart Shared Service	Ces, LLC Address: PO Box 1187
	Charleston, WV 25324
Name of Authorized Agent: Eva Kordusky	Address: PO Box 1187, Charleston, WV 25324
Contract Number: MIS2100000002	Contract Description: Temporary IT Staffing for WVDHHR/OMIS
Governmental agency awarding contract: WV DHHR	
☐ Check here if this is a Supplemental Disclosure	
List the Names of Interested Parties to the contract which are entity for each category below (attach additional pages if ne	e known or reasonably anticipated by the contracting business ecessary):
<ol> <li>Subcontractors or other entities performing work or</li> <li>☑ Check here if none, otherwise list entity/individual na</li> </ol>	
2. Any person or entity who owns 25% or more of continuous Check here if none, otherwise list entity/individual national Edwards	tracting entity (not applicable to publicly traded entities) mes below.
<ol> <li>Any person or entity that facilitated, or negotiated services related to the negotiation or drafting of the</li> <li>☑ Check here if none, otherwise list entity/individual nat</li> </ol>	
Signature: Era Korolusky	Date Signed: 9-15-2020
Notary Verification	^
I, Eva Kordysky	the authorized agent of the contracting business.  Disclosure herein is being made under oath and under the
Taken, sworn to and subscribed before me this	day of 30300 2020 Notary Public's Signature
To be completed by State Agency:  Date Received by State Agency:  Date submitted to Ethics Commission:  Governmental agency submitting Disclosure:	OFFICIAL SEAL STATE OF WEST VIRGINIA NOTARY PUBLIC David Cole P.O. Box 5272 Cherlesten, WV 25381 Wy Commission Expires June 10, 2025